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Write equation of the
quadratic shown in standard
form. (Ver'fex is (1, 12.5)
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Describe how the graph of
y = 3(x-2)2 + 7 is changed
from the parent graph
y = x%,

O X nede i X P do @gfg@%;%fi
Yo UB \ _ ) ST 8 SAVLE VAN

S QNG Expect D WE BRI
| way T dutsade e fawion
i) g ”? ({\?’w‘w +77 Al bac %L\) Y ’

S

stefiied verfial 3"@ \«f)

[> R

i@W

- N
Graph y = x2 -6x -7, u}»«— (x-N Ot
Yoox1E0 it =0
Tell the vertex, K= o
x-intercepts,
y-intercept,

QoS ‘Ao
and axis of symmetry. (. 5, (7,0)

¥, %&f{@‘ ) .
o v (- 3 ¢)

. et T i
\;(j f iﬁ?‘% k- W‘%ig;?'}i ,"_;:_ ’5

g -1y
G-a%

Aﬁ i}f\-" Y ﬁfﬂﬁa”%d}——?
- T :7) \,,} i £ 2
* (osT)

PR L/
C%.) lo) 9= 60

[ v
TG



; E
EE' | oy IS 3

el B ’ KJ -

Two toy rockets are shot upward from
ground level,

Rocket A

y= 163+ 27206
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Rocket B
Y = -16x2 + 250x

For how many seconds is the rocket ( s | C\} ('1 % le F%j Q)

that travels the farthest in the air?
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Solve by factoring
6x2 = 5x -1
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Using the formula
h(t) = 160t - 1612 where h(t) is
the height of the ball in feet
and t is the time in seconds.
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Describe the type and
number of solutions of
3x2+4x =-5,
Iy 5= 0O
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Describe the type and
number of solutions of
3x%+ 2 = bx,
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Solve
-2x2 + 3x=1
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Two toy rockets are shot upward from
ground level.

Rocket A

© Height
- {feet)
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Rocket B
Y = -16x2 + 260x
oy ok
How high up does the highest rocket
travel?
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Factor completely
4x2 +12x - 112
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Give the exact answer(s)
for the solutions of
2x% = -6x -3
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John is planting a garden
against one side of his
house. He has 150 feet of
fencing to use fo keep
animals out of the garden.
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Describe how the graph of
y=1/3(x+2)2 - 7 is
changed from the parent
graphy = x2,
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Solve Bx2 - 75 = 0,
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A skating rink manager
finds the revenue y based
on an hourly fee x for
skating is represented by
the function
y= -480x% + 3120x.
What hourly fee will
produce maximum
revenues?
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Write equation of the
quadratic shown in standard
form. (Vertex is (-1, 13.5)
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Graph y = -3x% + 6x 9.

Tell the vertex,
x-intercepts,
y-intercept,

and axis of symmetry.
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